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Part A (Short Answer Questions)

Answer any eight quesflons.

Weight I each.

1. Define degenerate basic feasible solution of an LPP.

2.'firii*iiieor-iaioftheiollov'ringLFproblemandverifi',thatthedu;icfrileduai isprim;::1.

Maximize l(X):2rr+3n2, subjecttoul - 12 12,3*r +5*2) 4;rt,fi22lt

3. If aptimct solution of relate.d ILPP exi,sl andTp f $ prare that optiwal soluion of associated LPP

exist antl it is tlrc lov'er bottnd for the same .

4. Explain Knapsack Prablern and its ntalhematical model.

5. Define the following with suitable example.

ii) Directed Graph (ii) Chain (iiii Path

6. Write short note on scheduling sequential activity.

7. State maximum flow minimum cut theorem"

8. Define the terms (i) semi positive definite (ii) semi negative definite

9. What are the two phases used in Hooke and Jeeves algorithm. Explain'

10. Minimize f(X): n2 +y2 *2 subjectx*y-3.

(8x1=8 weightage)
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,Part B {$hort f;ssaylFroblem+}

/1n:.;w*er at':y six guestrclns.

Weight ? eacli.

11" Definecanonicalformofequafions'whatistheadvantageofputtingtheequationsinacanonical
form?

12' Prcve that the optimum value of /(x) or the primal if it exists is equal to the optimurn value oftp(Y) of the riuat.

13. Salve graphically." ll{ar f {X} : 6zL * br2 suh.ject ro
t1 - 3x2 { TrSrt * 47.2 l l\rirr * xz '-b,nr } Ar7,2 } e.

14. Sol,-e the ILpp using cutting plane merhod
Min z - gxt * lAr2 sttbject ta _

0 ( 11 < 10,a { n2 ( 8,3r1 *5*2} 45,sr } 0, rz) 0forrpnd*2{tt€integers.
15. What you mean by goal programming.

A factory can manufacture two products A and B. The profit on a unit of A is Rs. g0 and of B is Rs.40' The maximum demand of A is 6 units per week and B is g units per week. This manufacturer has

:::iill 
of achieving a profit of Rs' 640 per week. Formurare the probtem as goa| programming

16' [xplain how to find the minimurn path in a graph with arc lengths are non negative.
17 Define gradienr vector and Hessian matrix. Find the point at which

/(x) : rr * Zr.t * *l - *3 - *? is maximum.

18. Write down all Kuhn -Tucker conditions of
Minimize z : 100 _ 7.Zq _ \.5n2 + 0.Auf + A.Abrl subject to
trr * rz ) 35, 11 ( 11, 12 { 13;fi1,,fr2 } Q

(6,2=12 vueightage)

Part C iEssay Type euestions)

Answer any two questions.

Weight S each

19. Solve the following Lpp using simplex method
MaximizeJ(X) :4q +drz
subjectto st-Zsz j ?,2:r; *,,.r ( 6,s_,-., -1_ Znz !b,_frt*r: { 2,s: ZC,s: .} 0

20. ,\olve the ILpp using Branch and Botmd methotl Mi,n z : bct * Tx2 .subject toZst + rz I 73,5*, + gr2 I 4L,,*1) a.rz ) a and *1r*2are in[egers.
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Maximize the function l(n) :
uslngN=6 anrJ,::0.5.

r.!:iiiimirf:: ;.panning tree iij r.lt.:, t+iicrv;ilg ;nriq16i,:rc.4 I.:!{r
{1,2} {1,S} {1,4} {a,J} tz,f} {2,,!0) )+,t:ti ir;sJ.,

(4.8) {5,6) (s.7i (6 7) (6.8i (6,s) (7,e) {8,e)108122A16rc3
22 I

I
*/9

-x:+3
ifn<2
ifn>2 in the interval {0,3) by Fibonacci method

(,2x5=10 weightage)
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